Unit @ Study Guide: CC2ChB& CC3 Ch 9.1

Box & Whisker Plot

The following are the weights of football players:-220,226, 134383, 194250, 235,
240,208 1955 7nI,5
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Make a box plot for this set of dala.

e e b

— 1 e 1 1 1 1
O am o 10 2% o 2
What is the IQR of the data? v o
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What percent of players weigh inside the IQR?
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The following are the number of days poppies lake 1o germinate: 5\, 14, 10.% %4, §,
\?-‘ﬁ-} lgexl5=4.5%
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Make a box plot for this set of data.
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What is
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What percent of poppies take longer than the O3 to sprout?
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Types of Angles
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£2& £8 are _G.H' E-‘*Ii.-gﬂm— angles. (.f_mgrm\r"}
238 ¢4 mﬂwlymg__m. (4 akjacet)
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Finding Angle Measures




Congruent & Similar Figures

Congreent, Similar, or Neither?
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Burt's chickens lay 40% fewer eggs than Berry's chickens. If Berry's chickens lay
eggs per week, how many do Burt's lay? 'ﬂxr.ﬂ.‘htﬁm-i" :
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Sam bought a jacket, which was 1/4 off the original price. If Sam ps
was the original price? Jﬁ




Becky buys & pair of shoes that are 40% off the onginal prce. If he paid 315, what was
the original price? {;}?‘;= IS
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My chickens ate 40% of a 25ib of chicken feed last month. Last month, they ate 70% of

the remaining chicken feed. How much is left now?
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What is the slope of a line that goes through (0, 4) and (3. -2)7
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What is the slope of a line that goes through (5, 4) and (8, 2)?

What is the slope of a line that goes through m.s;m.ta.-‘zj? ’
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Simplify: a’0’ - e’ Simplity ('y*'z%)
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